
Mr. Wilfong's Snow Packet

Math: Geometry

Days 22-3 I
Instructions: Read ALL instructions carefully.

l. This document contains Days 22-31 packet assignments for
this class.

2.Be sure to follow all directions on the pages below and given
by your teacher in class. You may be asked to turn in work on
your own paper or digitally.



When you have a problem involving a right triangle, there are 3 ways you can choosefrom to solve. Choose the best
optionfor the information gtven,

OPIION I' PYruA6OPTAN IITOPTM-SIDIS ONIY
.When you have two sides of a right triangle and you are trying to find a 3'd side

.When you are trying to determine whether 3 sides form a right triangle

Solvefor x. Wll side lengths of 10, I and 6form a right triangle?
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Wen you have a problem involving o right triangle, there are 3 ways you con choosefrom to solve. Choose the best
optionfor the information given.

OPTION 2' SPICIAL PI6I]I IPIAN6IIS
'When you have a right triangle with a 45o angle OR a right triangle that is isosceles

.When you have a right triangle with a 30o or 60o angle

.When you are trying to find the diagonal of a square

.When you are trying to find the altitude of an equilateral triangle
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AN6tIS

AN6[ SUM TIOPIM

The sum of the interior angles of a triangle
equal 180o.

So, in the triangle below:
mLt+ mLz+ mZ3:180o
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The exterior angle of a triangle is equal to the
sum of the measure of the two remote interior
angles. The remote interior angles are the two

angles in the triangle that AkE IVOT adjacent to
the exterior angle you are trying to find.

In the triangle below, z4 is the exterior angle, so
mLl+ mz2: mL4

Angles ih Triangles C[lfAIS+trd
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PIoIJI IPIANoLTS

Solution:

The word RIGHT tells us to

use the Pythagorean

Theorem. Make sure your

longest side is substituted in
for c! If the measures "flt,"

then they form a right
triangle.

IPIAN6LIS

Problem:

Given 3 segment lengths,

will they make atriangle?

Solution:

Add the measures of the

two smallest sides. They

MUST be GREATER

THAN the third side to

form a triangle.

PAN6T

Problem:

Given two sides if a
triangle, what could the

length of the 3'd side be?

Solution:

Subtract the two numbers.

Add the two numbers.

These numbers give you the

bound ofthe range.

Given two sides of a
RIGHT triangle, use the

Pythagorean Theorem!

0pDrpN6

Solution:

The smallest angle is across

from the shortest side.

The largest angle is across

from the largest side.
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Problem:

Given 3 segment lengths,

will they make a right
triangle?

Problem:

Given the sides of a

triangle, list the angles in
order of size. OR, given the

angles of a triangle, list the

sides in order of size.



CON6PUINI IPIANfLIS CON6PUINCI SIAIMilIS
Congruency statements help represent congruent

to match up correspoi*:r AABC = ADEF .r",o,liil".';s in thesides and corresponding ..- ^ - v 
- 

au r-'tL

angles in congruent same Posttton
triangles. rePresent congruent

sides.

l\,r,
r
E

a

a

Corresponding congruent angles
Corresponding congruent sides

.Single letters in the
same position

slD[, slD[, slDt
All 3 sides congruent

AN6L[, SID[, AN6tt

Two sides congruent and the angle in between
them

AN6L[, AN6I[, SIDI
Two angles congruent and the side in between Two angles congruent and a side NOT between

them them
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slD[, AN6L[, SlDt



Proportional means "reduce to the same fraction"
When you see the word similar in a problem, there is a good chance you should be writing a proportion. Look for
corresponding pieces of information to write one!

SIMITAP IPIANoLIS SIMILAPIIY SMTililIS

SIMILAP TffiUPt MS

Corresponding congruent angles
Corresponding proportional
sides

/\-)

Similarity statements help to
match up corresponding
sides and corresponding

angles in similar triangles. same position
represent proportional

sides. They should
reduce to the same

lraction

AABC - ADEF' .D",br:',i3f;sinthe

.Single letters in the
same position

represent congruent

slD[, slD[, slDt

All 3 corresponding sides

proportional
1

SID[, AN6L[, SIDI

Two sides proportional and
the angle in between them

AN6L[, AN6LT

Two angles congruent
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Kuta Software _ Infinite Geometry

Solving proportions

Solve each proportion. Leave

t) 9=4
2p

your answer as a fraction in simplest form.
Period

48
2)

n8
3) 47

m7

k2

q 1:*
34

7r
45

s) 52 6)

t5
7) 6x

Solve each proportion. Round

a1 !=255n

your answers to the nearest hundredth.

I0) -l- =5.4' 4.9 6.1

n) 7! - 2'17

x 7.7

7.7 2.3e) i.6 b

rr; !! -2s6x 9.3



Solve each proportion. Leave your answer as a fraction in simplest form.

9 k+6l3) -86

104
15) _ = _p+2 3

m m*7
17) -89

9 r- 10l9) -4r

n-9 7?1\ ___LL 
' n+5 4

8 v-9??) -:-1
J /1'+ +

24
14) -10 a-3

48
16) -6 x- 1

lg) ' =3n+l 5

20) '+6 = 
10

x7

64
))t -
L-l b+9 b+5

86
24) 5x-4 r+5

Critical thinking questions:

25) Do you think that a person's age and the
amount they eat each day are basically in
propofiion?



Kuta Software - Infinite Geometry

Similar Polygons

State if the polygons are similar.

1)
10

t4 14

10

15

21 21

1<

3)
2t

15

l5

14

9.1 9.1

10

16.7 16.7

2)

Name--

Date_ period

36

L+

18

24

18

1^

48

1A

TZ.4 12.4

15.5

1^

Jt)

24

7

4)

48

15.5

5
20

5
7

2l

6)s)

20

8

28

20

25

35

zl

1)

6

736

130'

100"

100.

6

5zq

16

10

24

8)

8

8

3Z

32

36



e)

t7.3 17.3

30

z1

18

The polygons in each pair are similar. Find the scale factor of the smaller figure to the larger figure.

11) t2)
35 25 14

t6
1A 2.4 t6

40

t0
15

13) 14)
42

25
4235

l5) 16)
8

30 21

2t 2t 18

I4
18

t7) 18)

4

10)
3540

30

35

18

9.4

29

AA

18

9.4

z1

35
5 3540

25

42

5

30

35t4

7
18

t2

18

6

14

IZ

8



Kuta Software - Infinite Geometry

Using Similar Polygons

The polygons in each pair are similar. Find the missing side length.

l)

Nr2me

n Period

l0

14

24

15

15

2)

4)

8)

r0)

t2)

12 15

?
25

?

3)

24

?

48 54

56

t2

scale factor fiom A to B - 2 : 3

10 8?

7

4

6

1Z

5
?

3510

6

5)

e)

l l)

t2 6)

63

?t2

7)

?o

scale factor from A toB = 2 :7

?

scale factor from A to B = 5 : 6

9

? 7
30

scale factor fiom A to B = 1 : 7

6

E

scale factor from A to B = 2 : 3

scale factor from A to B - 1 : 2



13) t4)

16)

18)

))\

? ?

27
35

scale factor from A to B = 6 : 7

Solve for x. The polygons in each pair are similar.

15)

63
49

49

8x-2

t7)
49

6x-6

1e)
3r+ 1l

scale f'actor from A to B = 5 : 6

2L)

8x-7

scale f'actor fiom A to B = 1 : 3

x-2 t2 36

l8

2x+4

35

40
16

30
3x

scale factor fromA to B = 5 : 6

48

24

27
36

42

35
4542

3563
JU

20)
42

8x

t4

B

scale factor fiom A toB = 2 :7

scale tactor from A to B = 6 : 7



1)

l1)

T

R

143

8)

E

84

42

7A

V

a

AEFG

G

AFGH -

E 9

15

25

30

e)

s

ATUV

G

AHGF

F

88
s

56

AFED

10)

12)

U

18
9

W V

F
H H

21
42

F

C

R91

L2r

E

10

l)

D

27

ATUV -

30 U

U

G

v



Find the missing length. The triangles in each pair are similar.

13) t t4) 
u

60

?

K?

28

42

J

T

tt7

T

M

V
R

o

T

s

7Z

K

P

130

w

llx+ 1l B

L
33

ls)

1e)

l6)
9 V9 Q

?

I
r8)

20)

P

C

D

30

5.r + 11

U

s

l8

12

R

?

22

B

18c 6 U

Solve for x. The triangles in each pair are similar.

t7)
llx-4

T

B

60

J -4+4x g

96

R
A

77

70

Ezt F

D50c

v64

88
K

27

T

w

24

UL

6

36



Kuta Software - Infinite Geometry

Similar Triangles

State if the triangles in each pair are similar. If so, state how you know they are similar and complete the
similarity statement.

1) 2)

Date_ Period

14

A

84 72 12

C 488

ACBA

H

16

AUTS

14

39
s Eu16

49

G8 F

40

3) 4)

6)

V

v28u T
8

AVUT

U

LIKL -

KL

s)
88

16

T

L
B

25 c 107
M

AKLM *

ASTU -

B

Name

L

K

U



10)e)

36
-t

t2)

14)

18)

33

x

13

x

74:i

11)

1-5)

17)

M\G

36

75

lf

13)

.I

60

x

64

16)

15 x x

9

11

11

x

,{

36

60

1n

-soi3



Kuta Software - Infinite Geometry Nzme

Similar Right Triangles pare_ periorl

Find the missing length indicated. Leave your answer in simplest radical form.

1) 2)

36100

25

9

x

3) 4)

45
25

9

81

b4

16

.I

6)s)

84
7 9

1) 8)

x

x

x

48J 16



Kuta Software - Infinite Geometry

Proportional Parts in Triangles and parallel Lines Date

Find the missing length indicated.

l)
?

25

15
?

Period

2)

t4

3)

20

18

Solve for x.

s)

45

z0k----_>l
36

Find the missing Iength indicated.

7)

15l<---+l

3-r- 5

10

at

4)
? 2

15

Z8

t2
?

6)

8

5x

8)

77
?15 30

25

Name-

-

8



e) 10)

12)

r4)

16)

18)

5 ? 8

lt

35

28 t6

?

22

Solve for x.

l1)

7+14x

Find the missing length indicated.

13)
36

15

30

1s)

48

30

Solve for x.

t7)

i0

2x- l0 4

10

9

14 8

o

20

12 ?

?

1A
7

39

28

24

12.

5

21

2x- 5

x- 1


